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Worksheet - CW 3.4 Writing Linear
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Y =mx+b L

\/:—%‘X-H—f

l\lfr
-4

T3
|
x m]\\\

Page 1

. E S ) 5
Examples: Write the stt\zrﬁldarﬁ ‘orm of the equation of the line

shown in the accompanying graph:
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Write the slope-intercept form of the equation of the line that

satisfies the given conditions:

4. passing through the points (1, 3) and (-1, -1)
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Write the slo e':-\t"ﬁ't'zrcept form of the equation of the line that
satisfies the given conditions:

3. passing through the point (3, 2) and

perpendicular to y = —3x —3
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Write the slope-intercept form of the equation of the line

that satisfies the given conditions:
5. with a slope of % and passing through _(:9&
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Write the standard form of the equation of the line that
satisfies the given conditions:

6. passing through the point (-4, 2) p\aglkcﬂl_t\o x+y=5
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Write the standard form of the equation of the line that
satisfies the given conditions:

6. Wmd passing through (-5, 2)
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